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(A ) 35 A riGPSE Fansh i, # iy 4 ARG ?
(A)RNAV equipped. (B)Astrotracker equipped. (C)FMS/EFIS equipped.
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( ¢ ) 36 Which observed target aircraft would be of most concern with respect to collision
avoidance?
(A)One which appears to be ahead and moving from left to right at high speed.
(B)One which appears to be ahead and moving from right to left at slow speed.
(C)One which appears to be ahead with no lateral or vertical movement and is
increasing in size.
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( ¢ ) 37 After an ATC clearance has been obtained, a pilot may not deviate from that
clearance, unless the pilot ?
(A)request an amended clearance (B)is operating VFR on top (C)request an amended
clearance or has an emergency
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( ¢ ) 38 To scan properly for traffic, a pilot should?
(A)slowly sweep the field of vision from one side to the other side at intervals
(B)concentrate on any peripheral movement detected (C)use a series of short,
regularly spaced eye movements that bring successive areas of the sky into the
central visual field
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( ¢ ) 39 When planning for an emergency landing at night, one of the primary consideration
should include?
(A)landind without flaps to ensure a nose-high landing attitude at touch down
(B)turning off all electrical switches to save battery power for landing
(C)selecting a landing area close to public access, if possible

F4e48%.:0011056 %220 2% B : %
( ¢ ) 40 Which range of codes should a pilot avoid switching through when changing

transponder codes?
(A) 0000 through 1000. (B) 7200 and 7500 series. (C) 7500, 7600, and 7700 series.
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( B ) 41 What airport condition is reported by the tower when more than one wind condition

at different positions on the airport is reported?
(A)Light and variable. (B)Wind shear. (C)Frontal passage.
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( A ) 42 What minimum condition is suggested for declaring an emergency?
(A)Anytime the pilot is doubtful of a condition that could adversely affect
flight safety. (B)When fuel endurance or weather will require an en route or
landing priority. (C)When distress conditions such as fire, mechanical failure,
or structural damage occurs.
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(B ) 43 What is the advantage of a three-bar VASI?
(A)A-Pilots have a choice of glide angles. (B)B- A normal glide angle is afforded
both high and low cockpit aircraft. (C)C- The three-bar VASI is much more visible
and can be used at a greater height.
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(B ) 44 What DME indications should a pilot observe when directly over a VORTAC site
at 12,000 feet?
(A) 0 DME miles. (B) 2 DME miles. (C)2.3 DME miles.
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( A ) 45 Where does the DME indicator have the greatest error between the ground distance
and displayed distance to the VORTAC?
(AM)High altitudes close to the VORTAC. (B) Low altitudes close to the VORTAC.
(C) Low altitudes far from the VORTAC.
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( B ) 46 Which pressure is defined as station pressure?

(MAltimeter setting. (B) Actual pressure at field elevation. (C) Station
barometric pressure reduced to sea level.
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(C ) 47 Airport information signs, used to provide destination or information, have

(A)A- yellow inscriptions on a black background. (B)B- white inscriptions on
a black background. (C)C- black inscriptions on a yellow background.
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( ¢ ) 48 Each crewmember shall have readily available for individual use on each flight
a

(A) key to the flight deck door. (B)certificate holder’ s manual. (C) flashlight
in good working order.
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(B ) 49 How can the pilot increase the rate of turn and decrease the radius at the same
time?
(A)A- Steepen the bank and increase airspeed. (B)B- Steepen the bank and decrease
airspeed. (C)C- Shallow the bank and increase airspeed.
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(A ) 50 What is the relationship of the rate of turn with the radius of turn with a
constant angle of bank but increasing airspeed?
(A)A- Rate will decrease and radius will increase. (B)B- Rate will increase and
radius will decrease. (C)C- Rate and radius will increase.
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(B ) 51 What is the hijack code?
(A)7200 (B)T500 (C)T7T7
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(B ) 52 If severe turbulence is encountered, which procedure is recommended?
(MMaintain a constant altitude. (B) Maintain a constant attitude. (C) Maintain
constant airspeed and altitude.
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( A ) 53 Which type of weather can only be directly observed during flight and then
reported in a PIREP?
(A)Turbulence and structural icing. (B)Jetstream-type winds and icing. (C)Level
of the tropopause and turbulence.
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(B ) 54 What does the Precision Approach Path Indicator (PAPI) consist of?
(A)Row of four lights parallel to the runway; red, white, and green. (B)Row of
four lights perpendicular to the runway; red and white. (C) One light projector
with two colors; red and white.
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( A ) 5 Which flight conditions of a large jet airplane create the most severe flight
hazard by generating wingtip vortices of the greatest strength?
(AM)Heavy, slow, gear and flaps up. (B)Heavy, slow, gear and flaps down. (C) Heavy,
fast, gear and flaps down.
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( A ) 56 Hazardous vortex turbulence that might be encountered behind large aircraft is
created only when that aircraft is
(A)developing 1ift. (B) operating at high airspeeds. (C) using high power
settings.
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( B ) 57 To avoid the wingtip vortices of a departing jet airplane during takeoff, the
pilot should
(A) lift off at a point well past the jet airplane’ s flightpath. (B)climb above
and stay upwind of the jet airplane’ s flightpath. (C) remain below the flightpath
of the jet airplane.
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( B ) 58 When instructed by ATC to "Hold short of a runway (ILS critical area, etc.),’
the pilot should stop
(A)with the nose gear on the hold line. (B) so that no part of the aircraft extends
beyond the hold line. (C) so the flight deck area of the aircraft is even with
the hold line.
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(B ) 59 What minimum aircraft equipment is required for operation within Class C
airspace?
(A)Two-way communications. (B)Two-way communications and transponder.
(C)Transponder % DME.
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(A ) 60 What services are provided for aircraft operating within Class C airspace?
(A)Sequencing of arriving aircraft, separation of aircraft (except between VFR
aircraft), and traffic advisories. (B)Sequencing of arriving aircraft (except
VFR aircraft), separation between all aircraft, and traffic advisories.
(C)Sequencing of all arriving aircraft, separation between all aircraft, and
traffic advisories.
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( ¢ ) 61 What action should a pilot take if asked by ARTCC to ’ VERIFY 9, 000" and the flight
1s actually maintaining 8, 0007
(A)Immediately climb to 9, 000. (B)Report climbing to 9, 000. (C)Report
maintaining 8§, 000.
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(C ) 62 Pilots should notify controllers on initial contact that they have received the
ATIS broadcast by?
(A) stating 'Have Numbers’. (B)stating ’Have Weather’ . (C)repeating the
alphabetical code word appended to the broadcast.
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(B ) 63 What 1is the primary purpose of a STAR?

(A)Provide separation between IFR and VFR traffic. (B)Simplify clearance
delivery procedures. (C)Decrease traffic congestion at certain airports.
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(A ) 64 When does ATC issue a STAR?
(A)Only when ATC deems it appropriate. (B) Only to high priority flights. (C)Only
upon request of the pilot.
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(B ) 65 What action is expected of an aircraft upon landing at a controlled airport?
(A)Continue taxiing in the landing direction until advised by the tower to switch
to ground control frequency. (B)Exit the runway at the nearest suitable taxiway
and remain on tower frequency until instructed otherwise. (C) Exit the runway
at the nearest suitable taxiway and switch to ground control upon crossing the
taxiway holding lines.
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(A ) 66 What is the pilot’s responsibility for clearance or instruction readback?
(Mread back altitude assignments, altitude restrictions, and vectors.
Altitudes contained in SIDs charted procedures, should not be read back unless
they are specifically stated by the controller. (B)If the clearance or
instruction is understood, an acknowledgment is sufficient. (C)Read back the
entire clearance or instruction to confirm the message is understood. Altitudes
contained in SIDs chart, should be included in read back even the controller
does not state that altitude.
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( ¢ ) 67 Except during an emergency, when can a pilot expect landing priority?
(A)When cleared for an IFR approach. (B)When piloting a large, heavy aircraft.
(C)In turn, on a first-come, first-serve basis.
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( B ) 68 What action should a pilot take when a clearance is received from ATC that appears
to be contrary to a regulation?
(A)Read the clearance back in its entirety. (B) Request a clarification from
ATC. (C)Do not accept the clearance.
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(B ) 69 An ATC " instruction’
(A) is the same as an ATC ’clearance.” (B) is a directive issued by ATC for the
purpose of requiring a pilot to take a specific action. (C)must be 'read back’
in full to the controller and confirmed before becoming effective.
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( A ) 70 Aircraft navigating by GPS are considered, on the flight plan, to be
(A)RNAV equipped. (B)Astrotracker equipped. (C)FMS/EFIS equipped.



